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9,000 1 ~443] 3%
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=g 100,000 8 »23] 1,600
ISR gole] Mg S P
75,0002 *457K 3,375
DA ESIHE 222 ALY KA
2= 11,000,000 *10% 1,100
NelotZ &SI J|IRA 88 8+
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01 At2t2lt] 8,285 8,600 A315
NESAEIE JRFX DA
9,000 5 +493] 2,205
NZAots=AHl XI@ AE M
603 250 +483] 720
NEEAEIE ARES 2l
960,000& 960
N3 A 80,000& 30 2,400




od
i’
oF
uJ

&

wW==X14
S 1GE=IN
EtE

BRI}
- Ca2lA
. —_0 —

2A:
X XH
o
&

S S8 el 8 B 8 3 3 g
S (S - - - N~ N~ 1
A0 P = S S 5
0 < <<« 3 p O
E
F=)
S S8 S8 3 P 3 8 S e
! A S|S el el el ! !
> ©|< SEES o 2 a g g
w3 : :
uifed
RIS
8 8 2188 8188 SI2 8L L L2 2 8L IO RIS RIS S 8 8 M%% S 8
o 0 wn|Io|o o |OoO|O O~ O AN O~ OO AN W |~ M~ OO AN W § Ol ¥ O|wv oS I © [aVE eV} — O
4 - —lgls S|glg gl - o = o o= I EIEEE X R
ar
<
S
m W mw W mw W m H H WM ™ M H H
< o ) 0 o o o ol
= S 3 S8 8 N &Y &
% = £ = = 5 5 Gl
— (=] (e)) —~ 0 a —
T2 | 4 ¢ & 22 B3 i
8¢S gl |2 ® g B & RIS
I = IR = 508 xS 5 S
= oM 8| | - 0 S S 3
ol Rl = = R @ R g o« 40
< < ol . = = ) = [=
¥ |T — = o ki K0 r ar ur
z K M_J. i =~ H W = OF oF o
. |2 A or o w0 or RO RO R0
=2 S| 8|S " -
K | m e = = = =
I —~ oH oM oH
SO o ok ms M 2 Ki mx R =
F |= =< o W | <+ W H oo O o
5 olw s uw o fre o (K o RIS o o &M 00 &0 o0
. | B W T O (®ro W | b R0 wr = b Ko ur ur ur
= [ w2 s A |H|H S |wm i1y M ok or i M oF oF oF
S S = T e o = 3 W R = 3 o RO R0 R)
RV IR0 do Ul & Ul jou|< I |gr ol A ir ol = = =
— o — N = — — |l — oF — —_ oF — o — — —
I ~ A




of
i’
oF
uJ

el

wW==X14
S 1GE=IN
EtE

BRI}
- Ca2lA
. —_0 —

2A:
= ZH
o
&

o) Ye) Ye)
" o o o
n0
Klo
£}
D
|l == o o o (@2} (@)} (@)}
T|B|D | @ ® ® S S S
SRIEEE: < S 8 S S
3T
ikd]
RIS
o Tl = 1A ™ — | AN D — | AN QO Al Al Al N N~ [l 2 N~ | [@>]
= 8BEEEEEL8R35E883)s SIRE SELERECIBEBIRBERRE BE
ar
<
S
It W RUHMm AU ~ W RUMm R WM m W m| n W rir
&0 [0 ol 08! OF OF
X S N S S S
o = a0 o = =
mm w8 3 ¥ & S g
7o 0 < ;
z) o 8 & S &g
. O — )
~ 8 —~
ol o DI W
=< o = =
It ur N K
: i 5 | o R K @ o ®
= 8 on | K] LA I = o=
m o m o |H m 5 o = —~ n =
o = 30 ||t ® | T o 50 o ﬂ B R
F il oS+ ®|R &+ 2 o0 ) 2 <+
ol o0 T [0 |A Koo o RT ol ~N = o RTOR
; wr T || O <k ) Ko U0 o ] = B ko on
& or |0 |D Ok |or H H 9 = A o i M
R0 RO o R|Z|= &% o) G 2 2 b e o
K o or R |R W oll < o K0 ol all oll < 2
* — k|l — LOI — — — — m_: — —
X n|®|” 50 & e o 8 ©
I N al S




A WIS
M BRIIZ0LN
o9l SBEAEE (2 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,744
s 43,737
OlS=EXAIZ2LHI(EX) 1,923,540 1,807,130 116,410
= 206,582
Ea 1,716,958
307 gl2to| & 1,923,540 1,807,130 116,410
=S 206,582
s 1,716,958
10 Al SXA2EE 22X 1,891,640 1,773,580 118,060
1)0ISSXIAIE 28] X
1,840,400, 0002 1,840,400
= 184,040
2 1,656,360
DAISBARE Sg4g X2
39,240,000& 39,240
= 1,772
o 27,468
NOISSXALTE L2 23]
12,000,000 12,000
< 1,200
= 10,800
11 AMEISXAEEXS 31,900 33,550 1,650
NAIEZ0tS thetrlsts X1
1,500,0002 x4 6,000
= 1,800
o 4,200
NAIE0lS deg2= NI
25,200,000 25,200
= 7,560
s 17,640
1AIE0tS +=St0oiatid] X1
100,000& *7&H 700
S 210
o 490
LASALLANESHIE(EX) 1,620 1,620 0
[ 486
T 1,134
307 glztol & 1,620 1,620 0
< 486
= 1,134
10 Al SXAIEEHE 22X 1,620 1,620 0
NASAILLAIESHIEXE
1,620,000& 1,620
S 486
o 1,134
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZAEX SIS (EX) 9,350 5,850 3,500
= 6,545
== 842
[Ea 1,963
307 212+01& 9,350 5,850 3,500
= 6,545
=S 842
s 1,963
10 Al SXA2EE 22X 9,350 5,850 3,500
1NZ AL X S0HS Atefl 2l
8,750,000 8,750
= 6,125
= 788
o 1,837
NEHE X SO0tSHEZ A
600,000 600
= 420
=S 54
s 126
OlsSAIEDISE 86,000 81,000 5,000
402 BIZtAH=01 A 86,000 81,000 5,000
01 QI X2 AL E X (KHMITHE) 65,000 51,000 14,000
Nots=EXAEIISEL 50,000,000 50,000
NXHoIsHEIISEZ 15,000,000 15,000
03 2IZ+RAETAIZ I 21,000 30,000 29,000
NSEEXNAISHEDISEZ
21,000,000& 21,000
NEEHHEANHERAZ(EX) 70,000 80,000 10,000
< 21,000
= 49,000
301 EtE NS 70,000 80,000 10,000
= 21,000
= 49,000
02 ARSI 2 X LGS (FHAAHS, W) 70,000 80,000 10,000
NOISLFAIE EA0tS NEEES
10,000,000 x3H 30,000
= 9,000
o 21,000
NIIEEESES0s NHEEES
10,000,000 4 40,000
< 12,000
s 28,000
NEEHHEANE S (EX) 114,000 114,000 0
= 91,200
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1)OtS SEAteAIZt2I AL 2R Q124H|
35,122,000& =2 70,244
= 56,195
[ 4,215
[ias 9,834
1otSSE A2 BRE =
14,000,000 2 28,000
M4 JIRHHZ2Z2XSE+ 87,360 87,380
1)OFESEAIBZIAL JIZH2 2T Q21|
31,430,000& 2% 62,860
[ 50,288
= 3,771
Ea 8,801
1)OtSSEAHIZEIAL JI2PHIZ 2K Ol
4,750,000 2 9,500
= 7,600
= 570
2 1,330
OIESTARMBRIAL JIBH22X
7,500,000 x2H 15,000
201 er23| 36,000 36,000
= 28,800
S 2,160
T 5,040
01 AFS2teltl 30,000 30,000
NEYAEIEAY ARES 2
5,000,000& 5,000
s 4,000
S 300
o 700
NESYAEIEAY 288 7
1,000,000& 1,000
= 800
= 60
T 140
NEYAEIEAY EES
16,000,000 16,000
= 12,800
< 960
[ias 2,240
NESAEE NGME =25 2 =2
5,000,000 5,000
= 4,000
= 300
s 700




A WIS
M BRIIZ0LN
CHSl: CRIAELE (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EAEE OtSSE A2 elAb 1=
3,000,000& 3,000
= 2,400
< 180
T 420
2 35234l 6,000 6,000 0
NEAEE 2= 2 *E=
2,000,000 2,000
= 1,600
S 120
= 280
NEYAEIE X2 22yl
3,000,000 3,000
[ 2,400
= 180
2 420
)SYAEE SEHBAIALY R
1,000,000& 1,000
[ 800
== 60
= 140
202 048l 9,500 9,500 0
[ 7,600
= 570
= 1,330
01 =LHAHI 9,500 9,500 0
NESAEE OtsSEAHZ2IA S22
i 4,750,000 2% 9,500
[ 7,600
= 570
= 1,330
301 LEtE N = 133,040 133,040 0
[ 106,432
= 7,983
= 18,625
01 A2 HSFS(RNEERTHE) 128,040 128,040 0
NESAEE Ot 22208 X2
76,825,000& 76,825
= 61,460
& 4,610
= 10,755
NEYAEE Ot ¥5Z208 X
51,215,000& 51,215
[ 40,972
= 3,073
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11 #AIAHIXIE S 5,000 5,000 0
CAEIE XGAIE ZX5 2EX
5,000,000 5,000
= 4,000
= 300
o 700
NSAotsdE2gHI(2X) 181,500 185,200 A3,700
= 52,000
= 15,600
o 113,900
307 @I2t0| & 181,500 185,200 A3,700
[ 52,000
= 15,600
[Ea 113,900
10 Al SXAAEEHE 22X 179,500 183,200 A3,700
NXSotsdy Jl22gdl X
1,758,805 «3 A+ 128 63,317
[ 22,834
= 6,850
o 33,633
NSEE Xdotsdd Jle2gdl XId
2,310,638 x3 ) 2xx 12 83,183
[ 29,166
= 8,750
Ea 45,267
NSEE XAotsHH XelAHIS
11,000,000 *39H 2= 33,000
11 AMEISXAEEES 2,000 2,000 0
DXIHOISMEIBAIRE AR2SH U BAHBD
AL 2,000,000& 2,000
XS otsHIE I AHI(EX) 662,862 600,720 62,142
= 237,000
< 71,100
s 364,762
307 lztol & 662,862 600,720 62,142
= 237,000
== 71,100
[Ea 364,762
10 Al2ISTIAIEEE 22X 662,862 600,720 62,142
NXSotsHE el2Ad| X
6,954,611 2«3 A+ 12 250,366
= 103,050
== 30,915
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SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
= 116,401
1N2EE XE0lsHE Ql2d] K&
11,458,2223 30 A+ 12 412,496
= 133,950
== 40,185
- 238,361
KEOtSHHEFMNEE(EX) 10,000 30,000 A20,000
= 3,000
= 7,000
307 21Zto| ™ 10,000 30,000 A20,000
= 3,000
= 7,000
10 AISISAIAIEHAESIHIEX 10,000 30,000 220,000
NXH0tSHE SZied] X
10,000,000 10,000
& 3,000
= 7,000
KNHOISHEH S 29H|(EX) 444 880 440,602 4,278
= 86,233
= 358,647
307 21z2to| ™ 444,880 440,602 4,278
= 86,233
= 358,647
05 QIZtREZ 246,904 257,567 10,663
1)2EE XNA0ISHE SAIL S8
232,000 12& x 128 33,408
& 3,888
= 29,520
1NZ2EE XE0ISHE SAHAF 1AHl S=IHA
2 289,000 *4H *3)| A+ 122 41,616
= 12,485
= 29,131
N2 XY0tsHE 244 X
143,080,000 143,080
& 28,616
= 114,464
)28 XY90tsHH 24 &0 21|
800,000 x4 A+ 122 28,800
o= 2,235
= 26,565
10 AISISAIAIEHAESIGHIEX 57,456 42 515 14,941
NXG0ISHE SAA S22
220,000 «2H «3J|| A+ 122 15,840
& 1,944
= 13,896
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28,800
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140,520
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6,000
3,000
3,000

12,000

307 212+01™

Moo

12,000
6,000
3,000
3,000

12,000

HIZ2=

2,000,000 * 10 A+62

Mo

12,000

12,000
6,000
3,000
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12,000
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7,800
18,200
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[Ea 12,500
401 AIEHIX 20 50,000 50,000 0
[ 25,000
= 12,500
= 12,500
01 Al&H| 50,000 50,000 0
NOENSSAte| 2L X~
50,000,000 50,000
[ 25,000
= 12,500
= 12,500
405 KHoHF S| 20,000 20,000 0
[ 20,000
01 AL =S F = 20,000 20,000 0
NOENSS AL I I XHHBI X &
20,000,000& 20,000
= 20,000
SNESH2EHI(EX) 24,000 24,000 0
= 15,600
= 8,400
201 Ler23| 15,650 20,000 A4,350
= 10,173
Ea 5,477
01 AtR2t2|HI 4,300 10,000 A5,700
N NESH 2SH(MR2Y )
4,300,000 4,300
s 2,79
s 1,505
2 35244l 7,390 10,000 22,610
N NsEsH 2EH(332Y )
7,390,000 7,390
= 4,804
o 2,586
03 A= I 3,960 0 3,960
1otsSXXIZel, T2 08 &S
3,960,000& 3,960
== 2,574
[Ea 1,386
202 04l 500 1,000 A500
= 325
= 175
01 =LHAHI 500 1,000 A500
NetnssHE ol 500,000 500
= 325
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[Ea 175
206 M=l 7,850 3,000 4,850
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01 =l 7,850 3,000 4,850
BNESH T2 DHDT S
7,850,000 7,850
= 5,102
= 2,748
SNSSHQIAHI(EX) 108,528 98,674 9,854
= 70,544
o 37,984
101 21AH| 108,528 98,674 9,84
== 70,544
o 37,984
M ORNZZ2NSE S 108,528 51,606 56,922
et nSsHIAHI(O12HH)
108,528,000 108,528
= 70,544
= 37,984
OtS=XILAHEE) 11,211 111,211 0
= 55,606
== 16,682
= 38,923
101 @124H| 11,211 11,211 0
= 55,606
[ 16,682
Ea 38,923
M ORNZZ2NSE S 11,211 111,211 0
1)0tS =X WAF QI24HI(J124HI)
111,211,000 11,211
= 55,606
< 16,682
[Ea 38,923
BACIRISRY(EX) 25,820 27,440 1,620
= 4,820
= 21,000
307 elztol & 25,820 27,440 1,620
= 4,820
[Ea 21,000
1 AMISXAEEXS 25,820 27,440 1,620
1)0FS X2 Z2OB(SAICI2ISFLAY)
25,820,000& 25,820
== 4,820
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[Ea 23,893
307 212+01& 34,133 38,400 N4, 267
< 10,240
s 23,893
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1NBII8 SEAAER} 29
34,133,000& 34,133
= 10,240
Ea 23,893
Ots=E(2X) 1,084,923 1,088,891 A3,968
= 759,446
= 97,643
Ea 227,834
301 eEtE N = 1,084,923 1,088,891 A\3,968
= 759,446
= 97,643
= 227,834
01 Al EEABZ(2DEER) 1,084,923 1,088,891 A3,968
1ots+=EXI& 1,084,923,000& 1,084,923
= 759,446
< 97,643
= 227,834
ZA0ISSABI(EX) 439,375 416,250 23,125
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Ea 149,625
301 LEtE N = 439,375 416,250 23,125
S 289,750
o 149,625
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1818 ots=AHl X
9,500 x250H 952 225,625
[ 225,625
1Ngsts ots=4AHl X
9,500 x250H 902 213,750
< 64,125
[Ea 149,625
OlsE2sd2II22F (E2E) 49,903 42,932 6,971
308 XXM SO0l 49,903 42,932 6.971
07 XL FE= 49,903 42,932 6,971
NotsEs 82012 29
49,903,000& 49,903
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